MENTAL ABILITY

of all values of a for which the function f(x)= ( 41a+4 —1)1'5 ~-3x +1log5
f | as!or all real x is : iy
5 -*- 27
Bl — )U(Z %) (B) (=, o)
3-421
2 |
‘~j€.'$-sin'1 5 IS independent of x, then
e 1+ x
A) xe[1, ) (B) xe[-1.11  (C) xe (== 1) (D) xe& (—=, 1]
.m;m a»the following functions is NOT injective?
‘i
__ _;”t L f(x)=2x+7 (B) f:[0, n] = [-1, 1], f(x) = cosx
__"1"1 B
4 0 ,"2]""'["1 I f(x)=2sinx+3 (D) f:R —> [-1, 1], f{x) = sinx
i H | i 4 — o0
point x = 1, the function f(x)=" Bl 1= X < | LT
:""w.{- X'-"1, g sXxs
e h
"Gil Tizﬂlfw IS and differentiable (B) Continuous and not differentiable
Jisc uh‘s'ﬁ jous and differentiable (D) Discontinuous and not differentiable

“ﬁ’“’ﬁ df ‘odd man out’ 4 persons toss a coin to decide who will buy

- . nn"%wﬁ? gbg entire group. A person who gets an outcome different from
-z}:_Eri:;:;;,..;.'-jj.-_t;:";ﬁi of the members of the group is called the ‘odd man out’. The
bility that irgals a loser in any game is _____ .

3 B (B) 1/4 (€) 112 (D) None of these

AR
.1:"‘. _r i:-
P
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| .f ”" T
i J ﬂﬂigm three such that £(0) = 1, £(1) = 2 anqg ¢ is a

'(x) cﬂ“(‘,m

lim extremum at 0, then | o o s
S 55 x* 4

+lag|x+~/x2+ |+C

(B) Discontinuous at x = 0
; (D) None of these.

n*l ﬂmult Is a head, a pair of fair dice is rolled ang the
d by .;. "‘!”‘J. “numbers on the two faces is noted. If the result
rd from a wi glwﬂlld pack of 11 cards numbered 2, 3, 4 , 12 is

. | "_i‘l'-":' 71
1 15 1088 | ® r': k

and th .I:_:-__?‘._. “l.ﬂk ! mj *fh. card is noted. The probability that the noted
J:?-‘ 191 190
©) 792 ®) 792
g5 “ - ik depends only on a,,
| . _ﬁrf: Adepands ona,a, a, b,. bg, b,

ALYTICAL REASONING
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ﬁ E play a game of cards. A says to B, “If you give me 3 cards, you
ﬂ'lalw as | have at this moment while if D takes 5 cards from you,
e as many as E has”. A and C together have twice as many cards as
ﬂhﬂ together also have the same number of cards as A and C have
er. If all together they have 150 cards, how many cards has C got?

(B) 29 (C) 31 (D) 35

nnd (ii) bear a certain relationship. Similarly figure (iii) bears the same

hip to the figure (iv). Select the figure from the options which would fit
&stlon mark (?) in figure (iii).

aaur .j i
'.'-Li ‘
'I

_ J
,:;=

. -| '1[1
0.y 5#;.‘ Eut
] 5 5
o

DL Problem Figures

" '-.'.-

w

}: l%fﬁrmatlon given below to answer the question that follows :
"' ‘is a group of five girls.

,-LS sacond in height but younger than Rupa.

'1"‘},”211“- than Monika but younger in age.

twa -Momka are of the same age but Rupa is tallest between them.
iee -5="u-'n'i5'f' 'taller than Pooja and elder to Rupa.
ﬁ’ﬂ question “Who is youngest person in the group”, which of the

-:r-

m ment is superfluous?
58 (B) Only (v) (C) Only (ii) (D) Data inadequate
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f;if
m a point A and walks 5 m towards North-East direction and reaches
here he travels 8 m in East direction and reaches point C. From

C he tra\ %wards South-West direction and reaches point D after travelling a

| - N
| a 1 . | .
. 1 a | 1 .
| |. | I: !| = 48 . P

——

5|

' 1 | - gy~ N i
SLC

b
"..

. 'Ir'.'f_;:l. ,

distanc w C al to AB. At last, he turns towards West direction and reaches point
distance
-"fff:. H ‘“{“#' u dlstance has been covered by Amit and which geometrical figure

‘Bae: d by the path travelled by him?
(B) 26 m, Parallelogram

(D) 16 m, Parallelogram



¥ tf!;h J
T -“iv.rﬂ#_- P

i
' F“'-r:‘ o1

i

lrlfarmatlon carefully to answer the question given below

ali mother of B’.
’ﬁ‘?n is the father of B'.

E’ +1.. ilL

mq "}:f.i : ans GA Ia gho husband of B’.

i F y ;1 'l:_.,.‘f
- i A

(B) Paternal Grandfather
(D) None of these

'_ , when given an input line of words, first splits the |ipe
_ e j_l’_ _f anges them following a particular rule in each step.
tration of the input and the steps of rearrangements.

r ﬂﬁfs bush than two stuck in the
i in har dﬂh bush than two stuck in the
bird I'h is bush in than two stuck the
1 is bush in stuck than two the
er bird hanc '*ls bush in stuck than the two
st step for s input)

2 above steps -
MN below input? h
i‘b you leap’

. (B) always around look before you leap
ound look n__ f .’*‘ (D.) always around before look you leap

(D) None of these



n given below and then answer the following questions.
ﬂmﬂﬂ In two rows In such a way that three persons sitting In
t‘l’l‘lﬁ the persons of the other row.
m #itting In the beginning of any row.
”ﬁ“ﬂd to the left of Arun.

Vio ‘MW I8 the neighbour of Mahima Is sitting diagonally opposite 1o

-'r

:_|.¢
',|l. I

l

) Ashi ‘i,. 'li a neighbour of Jiya.
_%a_i
) Visha ljl sitting to the immediate left of Mahima.

Nho an 1 ng the following are sitting diagonally opposite to each other?
”Iu Whll (B) Arun, Mahima (C) Mohit, Ashish (D) Jiya, Vishal

__C HMl'UII RS AND INFORMATION TECHNOLOGY

.-~ .ari‘ '

mplify 4 rco' + AB'CD + ABCD’ + ABCD.
w (B) AC (C) ABC'D (D) ABCD

" y I
. h

‘he binary equivalent for the number (7DF1), =
w 9101110001 (B) 1010101011111(11
3191“11110001 (D) 101100111110001

*I

- il extornal to the CPU and resides on the motherboard. Its typical
che ut m slzes are 64/128 KB in 386DX systems, 128/256 KB in 486 systems
ﬂ KB in Pentium systems.

Lov w (L1) (B) Level 2 (L2) (C) Level 4 (L4) (D) Level 8 (L8)

i @ following Is correct about class and structure?

.;-! ¢ H have member functions while structure cannot,

Gl U_j jata members are public by default while that of structure are private.

) Pointer %fﬁ struetura or classes cannot be declared.

class ;" ata members are private by default while that of structure are public by

"‘ e '.
’

" -*féﬂﬂwlng C++ concept allows a compiler to insert arguments in a
‘lhoy are not specified?
| ﬁ é‘ (B) Default arguments

all by reference (D) Call by pointer
. hat ﬁilll'lﬂ“ its virus signature everytime it replicates and infects a new
e mal liﬁ Iﬂﬁl’l difficult to be detected by an ordinary antivirus program.

| Parasitic virus (B) Macro virus

M C Virus (D) Multipartite virus




as the constructor and it is preceded by

(D) 3

o

card f mat for use in portable devices. SD stanc

(B) Self Digital
(D) Secure Digital

vantage of a database system?



se 'mpany, who sued Facebook claiming, “Timeline as their feature” is

(B) Cuboidal Network
(D) Central Network

:::::

peratmg system developed by Sun Microsystems in 1992 as the successor of

(B) Solaris (C) Boss (D) SunSparc
output of the following program?
e stream.h>
By

| L 2
L L

e e Tirve
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24 24 12

some |ir ___lon given below :
' '1 etwc rkmg service owned by Specific Media LLC and popstar Justin

5‘

re is DeWolfe and Tom Anderson.
f.-. *tform lhat launched the successes of Zynga and RockYou.

. - Iu"' -: < ".- -'_JI‘- ,.‘r
-t A ."
Pk a.i_T"l{— i :r ML
L a0 " 1 : -
1-. 2 S "L u I' L
= p I'.I ‘. & . 3

(C) MySpace (D) Facebook

m often called :
& (© ©) UCLA

1 NnIir-
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-yt ‘_' ___r..__'._ . ﬁ---_T



uf of the following program?

“1 ~.

(B) 15 (G) 15 (D) 151599

9 15
9 9
9 - 9

e in statement (C) Error in (D) Errorin
-"' :sample (); statement statement
PP int *p; const int *sample( ),

" use to look at the sequence or order
ject and f{“ ly reatrange them.
(B) Mo ,."‘M‘%p?a' % (C) Storyboard (D) None of these

X "“:-" ht‘
ST .;;_ :

ol "'_:, 51,“ 1) vy address in C++.
b [C) Pointer (D) Reference

' g fams I/O routines.

: I.” l"r g
-“;‘..rf'_'- T J
S C)  math.h (D) stdlib.h



nemory location shared by two or more different variables.
(B) Structure (C) Enumeration (D) Array

o) :”MQ‘VIE Maker, when you import a video file 1.mpg it will be shown in

(B) Collection pane
(D) Movie Tasks pane

e fnllowmg is NOT a video format?

(B) flv | (C) 3gp (D) wma
: an alternative name for an object in C++.
' (B) Function (C) Pointer (D) Array

Ixthue.':'.uzler file defines types and macros needed for the standard /O

(B) stdlib.h (C) conio.h (D) string.h
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